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O0I 5= +g 40,000, 0002 2% 80,000
O8D4012 1,340, 90021 #131%+24% 42,158
CREEEREEEE 700,000 +2% 1,400
09 SINAHA2EX24 690,809 489,987 200,822
mEESNNP=L] 31,781
oz 38,850+2% %2552 19,814
OX012 19,814,000 1/3 6,605
O Rt 38,8502 %22 172 1,321
OF5+g 38,8502 28 ¥522 4,041
BEREEEEL 15,892
023 38,8502 #12§ x2552 9,907
OX0i2 9,907,00024+1/3 3,303
O x4t 38,8502 #1217 661
OF5+9 38,8502 +12§ 522 2,021
CIQIADIS & &3 15,814
0Jl=3 38,8502 +12§x2552 9,907
OX0i2 9,907,0002+1/3 3,303
O x4 38,8502 +12f* 152 583
OF5+¢ 38,8502 +12§ ¥522! 2,021
OFUAGHAIEE 105,363
oJlza 38,8502 62 x2552 59,441
O&012 59,441,0002%1/3 19,814
O Rt 38,8502 62+ 152 3,497
OFg+g 38,8502 62 ¥522 12,122
OZV224Y
4,85621 621 x20A| 24128 %1.5 10,489
SIHNADRRE RS 330,000
OBEUC|ANE 30,000, 0002 5% 150,000
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SN KRS D
Ho: ™SR (KX (JIEHIIE)
el ol 2| (5l &2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
S EEE RN EEE
3,000,0002 *60% 180,000
C50HArS| 28l 2 191,959
203 AREXY| 250,740 229,765 20,975
NEEEEEEEEY 180,400 164,000 16,400
O XA 167,200
0=% 6,600
mlIPE 6,600
02 FAFMAREY| 45,500 45,065 435
mEEWSIESEET 45,500
04 SASYARETY| 24,840 20,700 4,140
mpJET 21,000
03021015H(5MH D) 21,000
mEE 5, 0002 *642 x 122 3,840
204 HRLHAY| 111,840 100,120 1,720
NIEEEEEEEET 60,000 55,800 4,200
OIS XA 900, 0002 12 * 122 10,800
S XA 700,000 x22 * 122 16,800
0=% 600, 0002 *124+ 122 7,200
OMoIZ2 350, 00021 +6% * 122 25,200
03 ST 51,840 44,320 7,520
O2UEII BRI NAZSAATUNE 2
& 46,800
OoEsgegBeae st
100,000 *3% + 122 3,600
2R YRL YRR/ SY)
60,0002 224 122 1,440
303 maZ 4,650,000 3,900,000 750,000
02 Hudoia 4,650,000 3,900,000 750,000
mEEE PR 4,650,000
04 ABRYIS 30,551,684 22,900,850 7,650,834
SBCEEEE] 24,865,945 17,769,880 7,096,065
mEEETEE=E
120,478,027 0002 %8.5/ 100 10,240,633
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2 AXEH W
M HESIZHI (KX D) (IIEHIIE
o©e: o2 crel Al
- SIGE
cHH 2 (S H)  NEAY - HES ALl @}\_FO” Hns
OXXSHEEZ2
120,478,027 ,000& *6.785/100 8,174,435
SFRAE RS REHZ
120,478,027 ,000& *5.1334/100 6,184,620
OMs2asse=2
120,478,027 ,000& *0.221/100 266,257
20HAUEE S 5,685,739 5,130,970 554,769
e A R = L
215,135,000,000& *2.54/100 5,464,429
Lo LBEHELS
5,464,429,0002 *4.05/100 221,310
o120l & 400,000 340,000 60,000
azx=2 400,000 340,000 60,000
=10 2,000,000& *200H 400,000
305,500 296,700 8,800
dl 305,500 296,700 8,800
B2 AH| 285,500 281,700 3,800
AF2 2t 2| B 247,700 206,700 41,000
Bt EH| 87,800
OJISARES L 2,000,000& =12 24,000
OFIIAMHENRAUS 1,000,000& x12& 12,000
ONEBYEXNSsE 800,000& x12& 9,600
OYAMAMERRAUAN EH| 600,000& x12& 7,200
OolMbI 1,500,000& = 12& 18,000
OZY L3 SEH0IG 17,000
Ogxs 900
OBHALRFAI S Ut 450,000 *2H 900
O2gs4g 96,000
O =2H| 50,0003 x4 480 96,000
2 &kl 63,000
OSXNHAESEHEIIAS A 3,000
OXNXNHEHRFERZ A 60,000
SS29H| 37,800 75,000 A 37,200
O 2| 3,000
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M XX
HA: @S AL (HXIBE D) (OIEHIIE)
cHel: J1= | (E9: @)
_ _ SIEN
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
SEEEFESSEET 3,000
OS2 HA 500,000& *12& 6,000
OAIE EHI R X dI 28,800
OEAMSF B HIAIAE 1,000,000& x12& 12,000
OA&EZ IS X2l 1,000,000 x12& 12,000
Oxz2R2ACAMNAERNE S
400,000& *12& 4,800
405 KHeHH SHI 20,000 15,000 5,000
01 XA ESESH=HI 20,000 15,000 5,000
OgdAEIIs7Y 10,000
O& K= AL 5,000, 000& *2CH 10,000
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